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20258 = =0llah LBHSIH S AIDH 2t

Al A

S SA D
I SHENL (LSS IHEY/LLIHE)
ol sSHENE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SADHL D 17,979,008 12,526,262 5,452,746
= 1,367,967
Xl 2,847,000
== 435,961
2 13,328,080
SOIENL (B DHE /LI E) 560,731 242,403 338,328
S0IENY 560,731 242,403 338,328
ITA=SHL 193,671 193,343 328
101 12| 8,871 8,543 328
oM IRIH22XS2+ 8,871 8,543 328
OLetstoENLAY AlE2 sXl2el 2
2 8,871
== 80,2402 * 15 *100 8,024
—NEI2E2 7.696,0002*11% 847
201 LEH2 | 84,800 84,800
01 AtR22lt| 65,000 65,000
OLBHS A ENL AL (HATHRI, 2,012
SHeDAIEE AL 4]
5,000,000 * 130 2 65,000
02 22| 19,800 19,800 0
OfAT AEE 2323
350, 00024 *47H A% 120K 2 16,800
O2UNEE IHZE MIIZ
250,00024 % 1H Ax 12042 3,000
401 AlEHIZL S CHHI 100,000 100,000
01 AlZH] 100,000 100,000
OBANX AIZS (RS, 2, D2, 23,
&L EE) Rl 50,000,000 50,000
O, DSl AIES(22.849,8X.5
AL QUAl )
6,250,000 *87H 2 50,000
AIE2 SoIEAL(Q2AY]) 28,860 28,860 0
101 12| 28,860 28,860
M IRIH22XSES 28,860 28,860
OYBHSAOIE LAY 2 22| OI=D)
o121d| 17,316
—0iIFD| oAb
100, 000! 3% * 1374 A4 15,600
e = 15,600,000 *11% 1,716
OYBHS A0 E NLAIY B2 22| XA
{ QI2AH] 11,544
—EEHH 2|
10,0002 x22 1304 A %42 10,400
MNEI2EE 10,400,0002 *11% 1,144
SADHL DA RETI) 8,200 8,200 0




A SADHED
BI: S0|ENL(LHBDYE/ L)
29 SOENS (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 4,000 4,000
01 At2teltl 4,000 4,000
OUEE 58 U NANY ELEE 72
4,000,000& 4,000
203 =4l 4,200 4,200
MU FA2SHIFII 4,200 4,200
ORN2IYRFaH|(2521015})
350,000 * 1204 & 4,200
sE32 MAXs JI=2HE 360,000 350,000
401 AlEHIZL R0 350,000 350,000
01 Al&HI 350,000 350,000
O=&32t W7Xst J1=238 89
350,000,000& 350,000
SHASOHY (sdaldsd/ =Y - 5&) 98,880 108,579 £9,699
< 30,900
Ea 67,980
sl HEAHSE 98,880 108,579 29,699
= 30,900
= 67,980
HEotE ARE X2 98,880 108,579 29,699
= 30,900
[Ea 67,980
307 el2to| & 98,880 108,579 29,699
= 30,900
o 67,980
02 QIHEHAIEE X 98,880 108,579 29,699
OMELIS MRE X (Z2E20I)
1,648,000« 1E* 1204 19,776
< 6,180
[Ea 13,59%
OHEote MRE X(SH0tR)
1,648,000« 1H* 1200 & 19,776
= 6,180
Ea 13,59
OHMEote M2 XA (S2018)
1,648,000+ 1E* 1204 19,776
[ 6,180
Ea 13,59%
OHMEoe MR XA (AE0E)
1,648,000 1+ 1200 & 19,776
= 6,180
Ea 13,59
OHMEote A2 XA (LX)
1,648,000« 1E* 1204 19,776
[ 6,180




2A:

B SIIASOHE (SRS Y - BE)
el sgel BYE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 1] = 13,506
NADEL N (sS4 =s - S&) 3,962,600 2,139,000 1,823,600
N 1,459,000
== 242,000
o 2,261,600
SgI8HE| 3,962,600 2,139,000 1,823,600
N 1,459,000
S 242,000
o 2,261,600
AR HFIHL(#01) 1,500,000 0 1,500,000
401 Al HI L2 1,500,000 1,500,000
01 Al&H| 1,500,000 1,500,000
OB HSH2| H RN (D)
1,500,000,000& 1,500,000
N =SS A 13,600 16,000 A2,400
201 er23 | 13,600 16,000 2,400
01 At2teltl 10,000 10,000 0
Os%=24 &« OILOIALE =FAl2tel
5,000,000 +27H 2= 10,000
2 33=4H 3,600 6,000 A2,400
O2Yl=E disgs dII=
300,000& * 122 3,600
AB =X HE 2= 2,000 2,000
203 g4l 2,000 2,000
03 A=A R =] 2,000 2,000
OABZL GRF2H|
2,000,000 %1 2,000
FHOXA MEAHA HEAL(SS) 180,000 180,000
401 AIEHIX S0 180,000 180,000
01 A28l 180,000 180,000
OF AN S HEHAH HEAMA(SS)
180,000,000 180,000
FORI MO JHZARS (A1) 667,000 666,000 1,000
N 467,000
= 60,000
o 140,000
401 AlZHIZ SO 667,000 666,000 1,000
Xl 467,000
= 60,000
Ea 140,000
01 AlZH| 664,598 666,000 1,402
OF AN S HS02 HEAFE (&D])
664,598,000 * 11 £ 664,598
Xl 467,000
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SAIDHE Dt
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|
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403 Xt

>
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A=01d

bl

A

594,000
406,000

56,000
132,000

594,000

02 37|

SOl CHEE A2 A 2 S AL 2]
OF XS ME0A HEAM(SHS)
594,000,000 * 190 2

A H

594,000

594,000
406,000

56,000
132,000

594,000

bl

M H

303,000
147,000

47,000
109,000

197,000

106,000

403 Xt

>
ra

[t

on

A=01d

bl

MO

303,000
147,000

47,000
109,000

303,000

303,000, 000& *10H 2

bl

M

303,000

303,000
147,000

47,000
109,000

303,000

bl

M

310,000
152,000

47,000
111,000

203,000

107,000

403 Xt

on

ra

NS A=01d

>
]

EUNGE

310,000
152,000

47,000
111,000

310,000

=
OF AN MEHA HEAS

(LIBH)
310,000,000 *10H 2~

310,000

310,000

310,000
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A SADHED
M NAREUE (SRS D - SE)
el sZ0|eHEH| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Xl 162,000
=S 47,000
s 111,000
FARS MHA HEAE ((R1) 207,000 0 207,000
N 163,000
= 16,000
o 38,000
401 Al HIZ R OHHI 207,000 0 207,000
Xl 153,000
= 16,000
Ea 38,000
01 A28l 207,000 0 207,000
OF AN S H202H HEAE (F12)
207,000,000 * 191 2 207,000
Xl 153,000
= 16,000
[Ea 38,000
FHOIXA MEHA HEAS(EF) 186,000 0 186,000
Xl 134,000
= 16,000
o 36,000
401 AIEHIX SO 186,000 0 186,000
N 134,000
& 16,000
= 36,000
01 Al&H| 186,000 0 186,000
OF AR S H20HA HEAMS(ZT)
186,000,000 * 190 £ 186,000
N 134,000
< 16,000
s 36,000
A ESNGUSI(ZELRSNL/XSLZAI) 5,255,000 936,000 4,319,000
|ES2NGLd=0=xd 5,255,000 936,000 4,319,000
aIESANG & =0E 72 5,150,000 0 5,150,000
401 AIEHIZ SR OHYI 150,000 0 150,000
01 Al&HI 150,000 0 150,000
OAlZ2E |Xl2el 2=t
5,500,000 201 2 110,000
OS2AE oiglAHE =& =S|
20,000,000 #20H 2 40,000
403 MR EHSAHE01H 5,000,000 5,000,000
02 SISO St =2 A 2 E A I 5,000,000 5,000,000
OFYE oAz A2 2 293
5,000,000,0002 *1JH 2 5,000,000
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M SADHZ D
. AIE2XNFEUSIV(ZEX XSG

el AJIE2NGRA=0Exd

(u]

/NSBLEAI)

Al

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
N ARSI B(EX) 105,000 105,000
401 Al&EI L2 HE] 105,000 105,000
02 22| 105,000 105,000
ONEE FEBIYMFE APl 22|
4,200,000,000& 2. 5% 105,000
NALE AN (2EL RSN L /X ALECAl) 5,887,415 7,320,929 1,433,514
Xl 1,388,000
= 4,499,415
EINEEEY 4,093,168 7,078,212 A2,985,044
CAAE 2 OHE 145,168 145,069 N
101 @124H| 2,408 2,309 N9
M IIRIMZZENSES 2,408 2,309 N9
O=AAHEEZzZ S 24| el
80,2408 x2& 15 2,408
201 fer= 3| 22,760 22,760
01 At 2t 22,760 22,760
Oz =2z 29 100,000& » 122 1,200
O=AH=(HE) 312
4,000,000& 12} 4,000
OZAAHEEZ NHEY € SII0IA ==
= 1,000,000& * 102! 10,000
OZH& 222 23 o
70,0002 +x9g x 123 7,560
401 AlEHIZL SO 120,000 120,000
01 Al&HI 120,000 120,000
OZAHEEZ S22
100,000,000 100,000
OIS AIAE RXE4 E9
20,000,000 20,000
CAIESE 2L 24,000 21,600 2,400
201 et 3| 24,000 21,600 2,400
02 s3=gHl 24,000 21,600 2,400
OIS HIIANER
900,000 * 1204 10,800
OZIISH ==AME=
100,000& * 12043 1,200
OZ0t=3 AEE |Al&cll]
1,000,000& 123 12,000
AT sEAE(Le28d) 1,170,000 5,493,936 N\4,323,936
101 e124d| 202,677 163,936 38,741
M ORINZZ2NSE S 202,677 163,936 38,741
OZAITHY XM lAH[(SZRCIU0IH
., RCIUIOIE, JIZHMZ22XE) 202,677
—SZ20UI0IH 42,822
JlEs 446,055« 1H+83|x 1204 = 42,822
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A SADHED
M XNALEANS (BEXRSONL/XALCAl)
CHel: ZAIZE|HE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ZCIUI0IA 50,577
lZs 141,4802 x 12 #2552 36,078
== 141,480 x 1 +53= 7,49
AMNelEE =
500,000 x1&* 12042 6.000
o3 500,0002 1 +23] 1,000
—22CIUI0IE 45,849
lEs 126, 1302 x 12 +255& 32,164
- FErE 126, 1303 » 12 %53 6,685
ABIEEE 500,000 x1H« 122 6,000
o3 500,000 x12H 23] 1,000
—JIZMZ2Z Xt 63,429
JlEs 80,2403 x2H 255 40,923
- FRad 80,2403 »2H »535= 8,506
AMelEEE 500,000& x2H 12 12,000
o= 500,000 x22+23] 2,000
201 er=2 3| 6,000 10,000 24,000
01 AtR2te|HI 6,000 6,000 0
O AITHAXI A HE! AH222|H]
6,000,000& 6,000
401 Al HIZL S 0HYI 961,323 5,320,000 AN\4,358,677
01 Al&HI 961,323 5,320,000 N4,358,677
OSAMY =LA (Let2eld)
961,323,000 961,323
CAHEECZ HESAH(ESAE~ZS0T]) 500,000 500,000
401 AlEHIZ 201 500,000 500,000
01 A28l 500,000 500,000
OZAHEEZ HESAHESAIE~S2 W3]
) 500,000,000 500,000
SANAHEEZ HESAHE D218 H) 500,000 500,000
401 AIEHIZ R HYI 500,000 500,000
01 Al&H| 500,000 500,000
OZAHE 2L (B u~=E18SH)
500,000,000 500,000
SANHEESENE (SRRA) 700,000 500,000 200,000
401 AlEHIZ S 0HYI 700,000 500,000 200,000
01 AlZH| 700,000 500,000 200,000
OZAHEE2HE(ZRH)
700,000,000 700,000
SAHEC2HE (S4el 26H) 1,000,000 50,000 950,000
401 AlZHIZ 201 1,000,000 50,000 950,000
01 Al&HI 1,000,000 50,000 950,000
OZAHEEZ2OHE (Sael 28H)
1,000,000,000& 1,000,000
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M SADHZ D

M XNALEANS (BEXRSONL/XALCAl)

Chel: SAIZEIHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CATHEALS 54,000 67,607 A13,607

201 er23 | 54,000 30,000 24,000
01 At2teltl 6,000 6,000 0
OZAITHEAS A2t
500,000 * 12 6,000
02 S3=gHl 48,000 24,000 24,000
O ATHEAIYE S22
4,000,000 ~12& 48,000
ZZAIE 366,247 242,717 123,530
OFSOHRI1 AL 100,000 100,000 0
401 Al HIZL 201 100,000 100,000 0
01 Al&H| 100,000 100,000 0
o022t 310] At
5,000,000 *200H 2 100,000
SZdNE 2E F Zel(XHAl) 245,047 141,517 103,530
101 @1A4H| 32,407 33,217 AB10
04 JIZtN22 XS 2+ 32,407 33,217 A810
OJIZNZ22 X 2= 80,2403 x328! 26,319
OJIZtNZ22 X 2|
4240003 x 120 2 5,088
OJIZtNZ22X &=
500,000& 22 1,000
201 er23| 37,640 26,800 10,840
01 AtR2te|HI 34,240 26,800 7,440
OS8 HAAN 2LtE=
500,000 *200H 2 10,000
OZ&2gs 29
100,000 x10H 123 12,000
OZEAR 2 ol
70,0002 x10 =122 8,400
Osl==2 NZAHAU 22lAA8 FX 2=+
220,000 * 1204 & 2,640
OgRFaE Xt KX
100,000 * 1294 & 1,200
2 5234l 3,400 0 3,400
O=sd SZI= oL & H) &8 S
PNl 200,000&* 12043 2,400
OsY sZls s U 288
1,000,0002 %12 1,000
401 Al HIZL S 0HYI 175,000 36,000 139,000
01 Al&HI 175,000 36,000 139,000
OS&E =% AAU XA
15,000,000 *37H 2 45,000
O33E(ME) =2 AHAILE EXIAS
6,000,000 *57H 2 30,000




M SADHZ D

A XNALEANS (BEXRSONL /X ALCAl)
el BSAE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIGHLAIY =& EAH
100,000,000 100,000
AL 2 1,200 1,200
201 er=23y| 1,200 1,200
02 S3=gHl 1,200 1,200
OtE 22(=a) F2OHEAY LEDEY &
= 100,000 * 1204 & 1,200
A&EA 0l 8435t 20,000 0 20,000
201 2egh=3| 20,000 0 20,000
01 At2t2ltl 20,000 0 20,000
OXNENEZ RRIE=HI
20,000,000 20,000
SENE =X 1,388,000 0 1,388,000
N 1,388,000
ENHEEXF 1,388,000 0 1,388,000
N 1,388,000
401 AlZHIZ SO 1,088,000 0 1,088,000
Xl 1,088,000
01 Al&H| 1,088,000 0 1,088,000
OEXEEXF JISAIE X~ AHS
1,088,000,000& 1,088,000
N 1,088,000
405 AHatE = 300,000 0 300,000
N 300,000
01 TR ESF SHI 300,000 0 300,000
ETNEEXF JIEAIE XA (ZERE
EHOH ) 300,000,000 300,000
N 300,000
KIS OHE H & 40,000 0 40,000
HEE MYEZ HE M 40,000 0 40,000
401 AIEHIZ SR 0HYI 40,000 0 40,000
01 Al&H| 40,000 0 40,000
OAde M2 HESA NH=E=E
S9H| 40,000,000 40,000
SSAZNS(FEXNSNL/NSLEAI) 9,600 12,120 A2,520
SSAENE2E 9,600 12,120 A2,520
SSAFNE 2L 9,600 12,120 A2,520
201 et 3| 9,600 12,120 A2,520
01 At22t2l] 9,600 12,120 22,520
O=3A=Y2ARE3 24
100,000& * 122 1,200
O33A=42AEs 212 0l
100,000 x7& %123 8,400
NASE deoty XA (ARSI Z4E2E) 1,635,809 1,369,236 266,573




A SADHED
M NASES Mol NJ(MIASX/OIZNEEH)
o NASSE JzdEed EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,262,767
=S 163,061
s 209,981
NASS JIZdg:2d 1,635,809 1,369,236 266,573
= 1,262,767
= 163,061
Ea 209,981
F=Ha 1,541,209 1,329,036 212,173
= 1,232,967
= 154,121
= 154,121
301 EtE N = 891,209 829,036 62,173
= 712,967
< 89,121
= 89,121
01 AR 2EHSFS(RNEERTH) 891,209 829,036 62,173
Ogxt=n 891,209,000 891,209
= 712,967
== 89,121
[Ea 89,121
403 XM SAH=01H 650,000 500,000 150,000
= 520,000
== 65,000
o 65,000
02 SI12S0ItH et =& 2 €A ] 650,000 500,000 150,000
Ox=tdRAS0 650,000,000 650,000
= 520,000
=S 65,000
s 65,000
FH=A 35,000 35,000 0
402 2I2E X201 & 35,000 356,000
03 2IZHRAETALHHI 35,000 35,000
Od=SSAANG ZHIRE=2
7,000,000 5= 35,000
HEAEAN eAl SENFALS 46,000 0 46,000
= 23,000
< 6,900
s 16,100
301 EtE NS 46,000 0 46,000
= 23,000
== 6,900
[Ea 16,100
01 ARSI 2E AL S(SREXMH) 46,000 0 46,000




A SADHED
M NASES Mol NJ(MIASX/OIZNEEH)
BHel: NASS JIZMEEH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEENIENEEVEE
46,000,000& 46,000
= 23,000
[ 6,900
T 16,100
HIZ&HK HF=XE OIABIXI A 800 1,200 2400
- 400
& 120
Ea 280
301 LEIE NS 800 1,200 A400
- 400
s 120
s 280
01 Al 2E AL S (FREXME 800 1,200 2400
OHIE&HHM H==Xt OIAHHIXIA
800,000 800
= 400
=S 120
s 280
HMES=tEEs 255 XE 12,800 4,000 8,800
= 6,400
=S 1,920
s 4,480
301 EtE NS 12,800 4,000 8,800
= 6.400
= 1,920
Ea 4,480
01 Al EE AT S (2 RNEXMHA 12,800 4,000 8,800
OdNESStteE2E 252X
12,800,000& 12,800
= 6,400
= 1,920
Ea 4,480
FH & N (ARl RI/F=H) 395,000 240,000 155,000
= 105,200
= 289,800
FHEEIHEAS 395,000 240,000 185,000
= 105,200
[Ea 289,800
BIEEHIA 106,000 140,000 /34,000
= 74,000
o 32,000
402 2I2F X201 & 106,000 50,000 56,000
= 74,000
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SA: SADHE D
Mu: FH 2 R (AE=T/F)

Rl FHEFNEAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 32,000
02 QI XHE AL E R (01X THE) 106,000 0 106,000
OBIEEHIAIE 106,000,000 106,000
= 74,000
s 32,000
Mehal =180l XA 100,000 100,000 0
402 QI2F X201 & 100,000 100,000
01 QI X2 AL E A (KHMITHE) 100,000 100,000
OMeial =HF I XA
10,000,000& «10= 100,000
SEFAHS FHMNLAS 39,000 0 39,000
= 31,200
o 7,800
402 212+ X201 & 39,000 0 39,000
= 31,200
o 7,800
03 2IZHAETAIHHI 39,000 0 39,000
OSEFAAE FHMLAIS
39,000,000& 39,000
= 31,200
= 7,800
vd cl2ed IJHiag 100,000 0 100,000
401 A& HIX R0 100,000 0 100,000
01 A28l 100,000 0 100,000
Oty cI2ed FuIAY
50,000,000 #2JH 2 100,000
SZeY ZHIAME 50,000 0 50,000
401 AIEHIZ SR HYI 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OSEuEEN 10,000,000 *50H 2 50,000
HH2IAHI(ZADNL L) (DIEH/IIE 153,973 157,99 N4,022
el 2| 67,377 67,343 4
el 2d| 67,377 67,343 34
101 21AH| 67,377 67,343 34
01 2= 67,377 67,343 A4
OZADHE L AIZEe] 22+ 67,377
—2ety 67,377
S = 12, 84426 *30A| 2t 1200 & 27,744
= 11,6022 x5 *30A[ 2+ 1201 2 20,884
- 82 10,4162 x5 +30Al 2t 1200 2 18,749
J1I=23Hl 86,596 90,652 A4,05%
Jl=2ZH(S3A=IEE) 2,340 13,590 A11,250
201 2= 2,340 2,160 180
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A SADHED
M BHSAAL|(SAINLD) (IEHIIEN
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 2,340 2,160 180
OA=XE G SAHI
9,000 x3E +60& *100% 1,620
OgRFA MNRES 7Y
20,0003 32 %1274 2 *100% 720
JlZBHI(F &8 E) 3,120 8,5% A5,475
201 2= 3,120 2,880 240
01 AtR2t2lt] 3.120 2,880 240
OFietd gRFa SAl|
9,000 x5 & 602 «80% 2,160
OgRFL ARESS 7L
20,0002 x5 EH 120 2 +80% 960
JI2ZHI(SAITHAE) 2,4% 7,740 Nb,244
201 fet=3| 2,4% 2,304 192
01 At 22|l 2,4% 2,304 192
OZANY HPFE FAH]
9,000 x4 +60& *80% 1,728
OgRF=d AMNRES 7Y
20,0002 4 = 1200 2 +80% 768
Jl=2ZH(F2HEE) 2,49% 5,373 N2,877
201 er23| 2,4% 1,728 768
01 AtR2te|HI 2,49% 1,728 768
OZ2id g% =& SAH|
9,000 x4 +60 *80% 1,728
O &2 A ARES 2L
20,0002 x4 1204 2 »80% 768
J123HI(Z AL D) 72,244 32,704 39,540
201 er2&| 356,524 31,444 4,080
01 At2teltl 35,524 31,444 4,080
OF AL HRFE 23| 35,524
—ZASAH 2XZ
700,000 x2CH* 1200 16,800
—ARa D] gXE
120,000 * 1204 & 1,440
SAEA 2
25,0003 #2120 62 A+ 1270 2 +80f% 3,024
—SADHE D ERFA AARSE FY
15,0002 x21H* 1200 2 3,780
—ZADHE D S8 DBy EHFY ¥+
cltl 250,000& *4 ) *42] 4,000
—SAIDHZ D AFRD1D] 22l S HMHl8
200,000&* 12043 2,400
—4&ldel Bt%E S A AE A=3t
120,000 17 & »2 4,080
202 04| 36,720 1,260 35,460
01 =LHO LI 36,720 1,260 35,460
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SAM: SAIDHE
I AYSEAHI(ZAINLD) (JIEHDIE
&l D122 (CH9: &S1)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OZADIE L AR 2t SE 0|
20,0003 x20H 92 * 122 *30% 12,960
OZADNE L HRFX 22| SHNYI
110,000 *20Z *32 * 123 *30% 23,760
J23UI(ZAIDHEE) 3,900 22,650 A18,750
201 B2 AL| 3,900 3,600 300
01 ArR22lt| 3,900 3,600 300
OZADNYE HEFE 4|
9,000& 5% 60 2,700
OYRFE ARES #E
20,0003 x6E* 1200 & 1,200
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